Ersatzteilliste Lista parti di ricambio
Spare parts list Onderdelenlijst
Liste des pieces de rechange Lista de repuestos

6720804687
(2012/11) Ri

SU120/5 - SU160/5 - SU200/5

(

!

8738892100.aa.RO

Buderus

05.11.2012 1 6720804687




05.11.2012 2 6720804687



[de] Wichtige Hinweise zur Installation/Montage

Die Installation/Montage muss durch eine fiir die Arbeiten zuge-
lassene Fachkraft unter Beachtung der geltenden Vorschriften
erfolgen.

[en] Important notes on installation/fassembly

The installation/assembly must be carried out by a professional
who is authorised to do the work, and with due regard to the
relevant regulations.

[fr] Instructions importantes pour P’installation/le montage

L'installation/le montage doit étre effectué(e) par un spécialiste
qualifié pour les opérations concernées et dans le respect des
prescriptions applicables.

[bg] BaxHu yka3aHns BbB Bpb3Ka ¢ MHCTaNaUMATa/MOHTaXa
MHCcTanaumnaTa/MoHTaXbT TpAbBa fla ce U3BBPLLBA OT NNLEH3NpaH
3a paboTuTe cneLmnanmcT B CbOTBETCTBUE C NPUIIOKUMUTE
pasnopen6u.

[cs] DiileZité pokyny k instalaci/montazi

Instalaci/montaz musi pii dodrZeni platnych predpist provést
odborny pracovnik s pfisluSnym opravnénim pro tyto prace.

[da] Vigtige anvisninger til installationen/monteringen

Installationen/monteringen skal foretages af en godkendt installa-
ter under overholdelse af de geeldende forskrifter.

[el] Znuavtikég unodei€elg yia Tnv eykatrdotacn/ouvappoldynon
H eykatdotacn/cuvapuoAdynon mpEMEL va Tpayatornoleital and
e€oucloSoTnpEVo yia TIG EPYACLES QUTEG TEXVIKO TIPOCWITIKOG, TO
omnoio Ba mpémnel va @povTilel WOTE va TNPOUVTAl Ol ICXUOVCES
Satageig.

[es] Indicaciones importantes para instalacién/montaje
La instalacién/el montaje lo debe realizar personal especializado
autorizado para los trabajos, respetando las prescripciones vigen-
tes.

[et] Olulised juhised paigaldamiseks/montaaZiks
Paigaldamist/montaazi tohib labi viia selleks volitusi omav
spetsialist, arvestades kehtivaid néudeid.

[f1] Belangrijke aanwijzingen betreffende de installatie/montage

De installatie/montage moet worden uitgevoerd door een voor de
werkzaamheden geautoriseerde installateur. Hij moet rekening
houden met de geldende voorschriften.

[fi] Térkeitd asennus- ja kokoonpano-ohjeita

Naihin t6ihin hyvéaksytyn ammattiasentajan pitda suorittaa asen-
nus- ja kokoonpanoty&t voimassa olevien méardysten mukaisesti.
[hu] Fontos tudnivalék az installalashoz/szereléshez

Az installalast/szerelést egy, a munkakra felhatalmazott
szakembernek kell végeznie, az érvényes eldirasok
figyelembevételével.

[it] Avvertenze importanti per l'installazione/il montaggio

L'installazione/il montaggio deve aver luogo ad opera di una ditta
specializzata ed autorizzata in osservanza delle disposizioni
vigenti.

[hel 8608369emgsbo 8omomgdgdo 0Blds@sEoobogol/dnbEsgolsmgol

0bLEserEos/dmbEsgo mbos gsbbmGzogmmgl bsdrmdsmgdolmazols sdggdrwwo

335¢00g80E0WH0 39MLmBaeol Jogh, Bmddgmo asbsfgbol @sggom.

[i] Svarbios instaliavimo ir (arba) montavimo nuorodos

Instaliuoti ir montuoti, laikantis galiojanciy taisykliy, leidziama
kvalifikuotiems specialistams, kurie buvo jgalioti Siems darbams
atlikti.

05.11.2012

[Iv] Svarigi noradijumi par iekartas uzstadisanu / montazu
lekartas uzstadi$anu/montaZu ir javeic specializétam sertificetam
specialistam, ievérojot spéka eso3os noteikumus.

[nl] Belangrijke aanwijzingen betreffende de installatie/montag

Deinstallatie/montage moet worden uitgevoerd door een voorde
werkzaamheden geautoriseerde installateur rekening houdend
met de geldende voorschriften.

[no] Viktig informasjon om installasjon/montering
Installasjonen/monteringen skal gjennomfores av autoriserte
installaterer, og gjeldende forskrifter skal felges.

[pl] Wazne wskazéwki dotyczace instalacji/montazu
Zainstalowanie/montaz musza by¢ wykonane przez uprawnionego
do tego rodzaju prac specjaliste przy zachowaniu obowiazujacych
przepisow.

[pt] Indicagoes importantes relativas a instalagcdo/montagem

A instalagdo/montagem deve ser efectuada por um técnico espe-
cializado com qualificagdes para estes trabalhos, tendo em aten-
Gdo os regulamentos em vigor.

[ro] Indicatii importante privind instalarea/montajul
Instalarea/montajul trebuie realizate de catre un specialist autorizat
pentru lucrdrile respective, respectandu-se prescriptiile valabile.
[ru] BaxHble yKa3aHWUA NO NOAKNIOYEH UIO/MOHTAXKY

MopKnioueHne/MoHTaXX AOMKHbI BbINOMHATL CRELNaNUCTLI,
UMetolne Aonyck K BbIMOMHEHNIO TaKUX pabor, npu cobniogeHun
AeﬁCTByIOUJMX HOPM U npasun.

[sk] Dolezité pokyny tykajlice sa inStalacie/montiZe
InStalaciu/montéaz musi realizovat odbornik s opravnenim na

vykon tychto prac, pri¢om musi dodrZovat platné predpisy.

[sl] Pomembni napotki za namestitev/montaZo
Namestitev/montazo mora izvesti strokovnjak, pristojen za

tovrstna dela, ob uposte vanju veljavnih predpisov.

[sr] VaZna uputstva za ugradnju i montaZu

Ugradnju i montazu moraju da obave samo stru¢na lica ovla$¢ena

za izvodenje takvih radova koja ¢e postovati vazece propise.

[sv] Viktiga anvisningar for installation/montering
Installationen/monteringen maste utforas av en behérig och fack-
kunnig person enligt géllande foreskrifter.

[tr] Kurulum/Montaj ile ilgili nemli uyarlar
Kurulum/Montaj ¢alismalari sadece yetkili bayiler tarafindan
asagida belirtilen talimatlar dikkate alinarak yapiimalidir.
[uk] Baxnusi Bkaziekm WwWogo ycTaHOBKUW/MOHTaXy
YcTaHOBKY/MOHTaX MaloThb 34iACHI0BaTU QaxiBLi, LLIO MalOTb AO3BIN

Ha NpOoBeAEHHSA LMX PobiT, i3 AOTPUMAHHA YMHHUX MPUMNACIB.

[zh] ZEFEHEERET

WA R SR BIVF T AR IR TAE B8 M A SR B RAR ST R BEAT 22 %%

araailifeus 5l L cbada [ar]

Al gl 8ot ya aa cdanlly 4l 7 _ima paradio S8 (e greales€ T o5 of cang

S8 gafqual o gy 0 pga it s [fa]

JalSda il inan 5 ual IS ol plaif 4y o S (o) 4d ja (5358 Joua g5 Ay S saficuim

g el 4da gy e e 4

N2 / mpna? niawwn nirnia [hel]

127 INDINY WINZN DA T 7Y YNANNT NA'N NAonn / Mynnn
NN NRFZNN 72 170 7Y 197N 1IN

6720804687



Onderdelenlijst
Lista de repuestos

Liste des pieces de rechange

Ersatzteilliste
Spare parts list

Lista parti di ricambio

8738892101.aa.RO

SU120/5 - SU160/5 - SU200/5

Speicher 120 - 200

Cylinder 120 - 200
Ballon 120 - 200

Bollitore 120 - 200

1

Voorraadvat 120 - 200
Acumulador 120 - 200

6720804687

05.11.2012



Bezeichnung Bestell-Nr. Bemerkungen
Description Ordering no. Remarks
Dénomination Numero de commande = = > Remarques
Descrizioni Ne d'ordine w| b |w | b lw b Osservazioni
Benaming Bestelnummer QIRIS|8|8|8 Opmerkingen
Descripcién Numero el ordenar % ?) % ?) % % Observaciones

1 |Abdeckung D550 Deckel schwarz 87185423190 (M| m m B N N

2 |Stopfen EPS Oberteil D370 87185417630 (M| Wm ' H B N N

5 |6kt-Schraube Selbstfurchend M10x25 (8x) | 7747005744 |(m H|/H H H ®

8 |0O-Ring 120,02x6,99-N 87185725380 |H|H H | N B H
Logo Buderus 87185415730 |m|/m m B N N

SU120/5 - SU160/5 - SU200/5

Speicher 120 - 200
Cylinder 120 - 200
Ballon 120 - 200
Bollitore 120 - 200
Voorraadvat 120 - 200
Acumulador 120 - 200

05.11.2012

6720804687




Ersatzteilliste Liste des pieces de rechange Onderdelenlijst

Spare parts list Lista parti di ricambio Lista de repuestos
S 20x & 1504032 M8 8 A3K
i 20x & DING798 A8,4 A3K
: | 10x © DIN6798 A10,5 A3K
& 2
. 10x & DIN125 A8,4 A3K
| 10x @
\_10x © 8x25x2

8738892096.aa.R

Anode + Handlochdeckel SU120/5 - SU160/5 - SU200/5

Anode + Handhole cover

Anode + Trappe de visite

Anode + Coperchio d'ispezione
Anode + Handgatdeksel

Anodo + Tapa de la boca de hombre

05.11.2012 6 6720804687




Bezeichnung Bestell-Nr. Bemerkungen
Description Ordering no. Remarks
Dénomination Numero de commande = = > Remarques
Descrizioni Ne d'ordine w| b |w | b lw b Osservazioni
Benaming Bestelnummer QIRIS|8|8|8 Opmerkingen
Descripcién Numero el ordenar % ?) % ?) % % Observaciones

1 |Anode D33x400mm 87185715680 || Wm H H N N

2 |Anodenbefestigungs-Set (10x) Einschraub 5264278 HEEEERN

3 |Massekabel isoliert fir Anode 63037168 HEEEEE

4 |6kt-Schraube Selbstfurchend M10x25(8x) | 7747005744 |m /' m ® ®H H =

5 |Handlochdeckel DN120 fir Anode 7747004739 (M E/ER E E N

6 |O-Ring 120,02x6,99-N 87185725380 |H|H N N B H

SU120/5 - SU160/5 - SU200/5

Anode + Handlochdeckel

Anode + Handhole cover

Anode + Trappe de visite

Anode + Coperchio d'ispezione
Anode + Handgatdeksel

Anodo + Tapa de la boca de hombre

05.11.2012

6720804687




Ubersetzungsliste
List of translations

Liste des traductions
Traduzione delle descrizioni

Vertalinglijst
Lista de traducciones

Pos|Description Denomination Descrizione Benaming Descripcion
1 |Element of construction Groupe de construction Gruppo di construzione Montagegroep Grupo de construccion
1 |Cover Outer Case D550 Black |Couvercle Couvercle D550 noir |Copertura Coperchio D550 nero |Afdekking Deksel D550 zwart |Recubrimiento Tapa D550 negro
2 |Plug EPS upper section D370 |Bouchon EPS partie supérieure D370 |Tappo EPS Parte superiore D370 | Stop EPS bovendeel D370  |Tapon EPS parte superior D370
5 | Thread-forming screws M10x25 set (8x) |Vis # ressort M10x25 (8x) Viti Selbstf M10x25 (8x) Zelftapschroeven M10x25 (8x) | Tornillos automaticos M10x25 (8x)
8 |0O-ring 120,02x6,99-N Joint torique 120,02x6,99-N | O-ring 120,02x6,99-N O-ring 120,02x6,99-N Anillo térico 120,02x6,99-N

Badge Buderus

Logo Buderus

Logo Buderus

Logo Buderus

Logo Buderus

Element of construction

Groupe de construction

Gruppo di construzione

Montagegroep

Grupo de construccion

Anode D33x400mm

ANODE MAGNES 33X400 MM V2

Anodo D33x400mm

Anode D33x400mm

Anodo completo 33x400mm

Mounting kit magn.anodes insulated 10 pc

Fixation pour anode (10 pces)

Set di fissaggio anodi di magnesio (10x)

Bevestigingsset magnesiumanoden (10x)

Kit de montaje del Anodo (10x)

Earth cable isolated for anode

Cable de masse pour anode

Cavo di massa anodo (isolato)

Massakabel anode (ge#soleerd)

Cable tierra para anodo

Thread-forming screws M10x25 set (8x)

Vis # ressort M10x25 (8x)

Viti Selbstf M10x25 (8x)

Zelftapschroeven M10x25 (8x)

Tornillos automaticos M10x25 (8x)

Access cover DN120 f anode enameled

TRAPPE DE VISITE DN 120 L160

Coperchio d'ispezione DN120

Boilerdeksel mangat ST/3+S-RW "V1"

Tapa de la boca de hombre DN120

OB WINIFL|N

O-ring 120,02x6,99-N

Joint torique 120,02x6,99-N

O-ring 120,02x6,99-N

O-ring 120,02x6,99-N

Anillo térico 120,02x6,99-N

05.11.2012

6720804687




Geratetypen
Types of appliances

Types de chaudieres

Tipo apparecchi

Toesteltypes

Tipos de aplicaciones

Gerat
Appliance
Chaudiere
Apparecchio
Toestel
Aparato

Bestell-Nr.

Ordering no.

Numero de commande
N° d'ordine
Bestelnummer
Numero el ordenar

Land
Country
Pay
Paese
Land
Paese

Bemerkungen
Remarks
Remarques
Osservazioni
Opmerkingen
Observaciones

SU120/5 "SA1/2/4"

8 718 542 331

Belgien,Deutschland,Danemark,Frankreich,

SU120/5W "SA1/2/4"

8 718 543 049

Belgien,Deutschland,Danemark,Frankreich,

SU160/5 "SAl/2/4"

8 718 542 280

Belgien,Deutschland,Danemark,Frankreich,

SU160/5W "SA1/2/4"

8 718 543 058

Belgien,Deutschland,Danemark,Frankreich,

SU200/5 "SA1/2/4"

8 718 542 326

Belgien,Deutschland,Danemark,Frankreich,

SU200/5W "SA1/2/4"

8 718 543 067

Belgien,Deutschland,Danemark,Frankreich,

SU120/5 "SA3"

8 718 543 050

Bosnien und Herzegowina,Bulgarien,Griechenland

SU120/5W "SA3"

8 718 543 051

Bosnien und Herzegowina,Bulgarien,Griechenland

SU160/5 "SA3"

8 718 543 059

Bosnien und Herzegowina,Bulgarien,Griechenland

SU160/5W "SA3"

8 718 543 060

Bosnien und Herzegowina,Bulgarien,Griechenland

SU200/5 "SA3"

8 718 543 068

Bosnien und Herzegowina,Bulgarien,Griechenland

SU200/5W "SA3"

8 718 543 069

Bosnien und Herzegowina,Bulgarien,Griechenland

05.11.2012

6720804687




05.11.2012 10 6720804687



05.11.2012 1 1 6720804687



Bosch Thermotechnik GmbH
Sophienstrale 30-32
D-35576 Wetzlar
www.buderus.de

05.11.2012

12

Buderus

6720804687



